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Plot [['EcFgro', 'EcFzExp', 'EcPltng', 'ECdef’, '‘water_ec']]
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Plot ['ECopt']
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plot dfFv
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plot dfFv (daily AgqQ)
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Plot minDeltaM, minDeltaMs, minDeltaMt
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plot daily (kilo)MperET and deltaM
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Plot [['ETCAbyEtM:bo’, 'ETcAbyEtM_ma:b--', 'ETcAbyFv:go’, 'ETcAbyFv_ma:g--', 'ETcA:ro', 'ETcAma:r-']]

1.04

1.02

1.00 -

0.98 A

0.96 A

—— ETcAma

Warning: col ['ETcAbyEtM", '"ETCAbYEtM_ma", '"ETcAbyFVv', '"ETcAbyFv_ma", lETCA'] is missing

10

15

20

25

30

35




400

300

200

100

30.0
27.5
25.0
22.5
20.0
17.5
15.0

12.5

70

60

50

40

2500

2000

1500

1000

500

3.0

2.5

2.0

1.5

1.0

0.5

1.6

1.4

1.2

1.0

0.8

0.6

0.4

Plot [['I", 'lopt'], ['T", "Topt'], ['RH', 'RHopt'], ['ETcl', 'optETcl'], 'LAI', 'optEtRate']
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Fg Trigger Score (by Et and sensor)
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Plot solid fertilizer usage
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